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e F, 00 zy-000 V={00O0O },B={0000 }000

o V={wy, vg, v3, 04 }

v1 =00, v, =10, wv3=01, vy,=11
o B={B, By, B3, By, Bs, Bs }

By ={v,v3}:2=0,

By ={wg,v4} 2 =1,

By ={v,v}:y=0,

By={vs,v4}:y=1,

Bs={v,v}:x4+y=0,

Bs={vo,v3}:x+y=1
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o V = {wi, va, v3, V405, Vg, U7, Vg }

v1 = 000, w9y =100, w3 =010,
vs = 001, wvg =101, v, =011,
o B={DBi, By,---,Bas}

By ={v,va}, Ba={v,uv3},
Bs ={v,v}, Bs={vi,vr},
By ={wvs,vs}, Big={va,05},
Big ={wv,vs}, Bia={vs,va},
Bl?z{vs,v7}7 BISZ{U3>U8};
By = {vg,v7}, Bo = {vy,v5},
Bys = {ws,vs }, B = {vs, 07},

o V = {wv, va, v3, v4 05, Vs, U7, Vg }

vy = 110,

vg = 111
Bs = { v, 04 },
B; ={v,uvs },
By = {U27U6}7
By = {03,115 },
By = {U4,U5 },
Bz = {'U57'U6 },
By = {U67U8 },
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Bog = {U%US}
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vs = 001, wvg =101, wv; =011, wvg=111
o B={Bi, By,--",Bu}
By:xz=0, By:x=1, Bs:y=0,
By:y=1, Bs:z2=0, Bg:z=1,
Br:x+y=0, Bg:x+y=1, By:y+2=0,
By:y+z=1, Byi:z+2=0, By:z+x=1,
Bis:x+y+2=0, Byu:z+y+z=1
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o V == {U17 V2, V3, U4 Us, Vg, U7}
v =100, wy—=010, wvs=110, wvy =001,
vs =101, ws=011, w; =111

o B:{Bl7 BQ,"',B?}

By:xz=0, By :y=0, Bs:z=0,
By:x+y=0, Bs:y4+2=0, Bg:z+z=0,
Brix4+y+2=0
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